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(e) Findthe nthterms of GPis 5,25 125
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Attempt all parts : {(1x5=5)

(a) Write differences between {0Yand {{03
(b) Change into degree of E)E (o3
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{c) Wirite the quardrant of (5, 4)
{d) Find the value of (i)'

(e) Solvethe linearin equation 4x - 12> 0
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Attempt all parts ; (2xa=8)
(a) Ifn(A)=12,n(B)=8,n (A~B)=4, then find the vaiye of

n (AUB)  31n
(b) Find the value of Sin —— )

{c) Find the distance of the co-ordinatesis (1. 5) 3
@  Findthvalueof P isn=16andreg "o nd(2.4)
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Attemptall parts -

_ (2x4=8)
(a) Find the value of inverce function of f(n) = - - N4
(b) Find the three arithmatic mean between 3 and 19.
(c) Findthesumof AP3+5+7+ ... + 10th terms.
(d) FindthesumofGp 2., 1 . 1 .81
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ttempt any five parts : r (5x5=25)
(a) Ifcos 8+ Sin0 =2 Cos 0, then prove that Cos - Sin 8=
V2 Sin@. https:"www.upboardonline.com
(b) if tanx=4/3, then findthe value of tanx/2 (n/2)<x<n)
(c) If 8 is acute angle and tan 6 + Sec 6 = 3/2, then find the
value of Sinbandtan . 44
(d) If sum of the infinite series 3+ 5r+ 7r2+ ... 15 o Then
find the value of r.
(e) Ifa,=5-6n,ne N, thenfindthe sumof n terms.
(f) Provethat: 5};(51 5¢ = 31
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Attempt any five parts :
(a) If A+B =45, then provethat(1+tanA)(1+tanB)=2
(b) Prove that Cos 80° Cos 20° + Sin80° _sin20° = %

{c) if two vertices of an equilateral triangle are (0, 0) and
(0. 2+ 3). Find the third vertices.
(d) Solve the in equationis : (x*8)
(x+2)
(e) Solve the equationis Ix? +ix+3=0
if) The complex number is (-3 + v=2) and (23 ~i). Then find

sum and multiple.
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Attemptany one part : (1x8=8)
(a) in a triangle A ABC. then prove that ABZ + AC2 = 2 (AD? +
BD?). Where Dis mid point of BC.

(b) Prove that a real value of x is solution of thg,gquation
1-ix __ . ifa?+b2=1
——— =a-ib
1+ix
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&. afe Cos (a—B) + Cos (B -] +Cos (y - u) = —3/2 o g
FIRTC & Cosa+CosB+Chsy=Sina+Sinf+Siny=0
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Attempt any one part. (1x8=8)

(a) if Cos (—B) + Cos (B -y} + Cos (y - ) = —3/2, then prove
that: Cosa+Cosp+Cosy=Sina+SinB+Siny=0

(b) The series 9 + 99 + 999 + ... = Find the sum of nth
terms.

FE U WIS B HIfAT- (1x8=8)

T o Tl A 63 AR WRAY o gvre vy 2 orefd
70 wferera @9 | Al x wfayera wida 41 vg= Fvd & a1
x 1 AT §ITd BT |

" fagefw vy ¢ =511

r=3 -2

Attempt any one part, ) (1x8=8)

(a) in a survey 63% Indian like Cheese, where 76% like apple.
If x% tndian like both , then find the value of x.

(b) Provethat: ' % =511



